1621603 16 NT6028

OR (31214T)

Draw circuit diagram of sample and hold circuit

and explain its operation.

duel Ud Bles uRuer &1 yRuel —3RE Rad
IR su» gRAETaT B AT BN |

Explain the operation of transistor based monostable

multivibrator.
6

gifsreex ameRa e Reafas sgaus @ fear
YUTTell &) ARAT BN |

OR (3721d1)

Draw circuit-diagram of op-amp based
differentiator and explain its operation.

op-amp JATETRA abcd YRYL &I gRuey —
IRG Hd IR sUd URATAT B aAT BN |

Draw block -diagram of UART receiver and explain

its working principle 6
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Time : 3Hrs. Sem. VI - EC Engg.
D.E-II
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR(312r1aT) (if)

Write applications of schmitt trigger.
Reer fgR & rguann &1 fod |

5. What is sampling theorem? (i)

4
dufeiT Aren aam 28°
OR (3721d)
(ii1)
Explain dynamic shift register.
STsfie Riue IR @ aaren o |
6. Briefly explain how is information stored in CD-
ROM. (iv)
4

&y 4 e s f6 CD- ROMH a1 &l
@9 wfaa fear smar 87
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f=faRaa & @ &9 — a1 uRuer
op-amp BT AT BT 2 |

(31) farerux

(@) P W

(|) 9HHdd

(%) SuIqad g+

Which of the following is used to introduce
a dc level into an ac single:

(a) Clamper

(b) Clipper

(c) Integrator

(d) Difterentiator

f=faRaa & 9 feaar 9T vodlo
e 7 Soflo W &1 a1
¥ fopar orar 21

(31 TR

(@) foeux

(|) 9Hddd

O EEEED

Which of the following is combinational
circuit.
(a) Decoder
(b) Multiplexer
(c) ROM
(d) Both (a) and (b)
P.T.O
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xx) feAdIaear A Bl 2|
(31) s g9Yc 3R IJH ATSCYCT
(@) & sYe IR TP ATS<yc
(W) 3F® YT AR A AScyT
() 79 4 B3 TEl

GROUPB

Answer all Five Questions.

gl uig g & SR o

4 x 5=20

2.  What do you mean by punched card? Where was it

used?
4

Uas dls | AU RT G9sd 27 SHDT YA
$al fHar srar oa1?

NT6028

(vi)

(vii)

(vii)

(viii)
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fr=ifafaa 4 9 fo9 sg@us &1 gAY

Ul @Y oToxd BIdl 2 |
(@) e Reafdd dgdusd
@) fg Refas sgaus

(|) IReR dgdus

(®) (an) @i (@) <=

In multivibrator circuit, there is ..........
between transistors.

(a) Positive feedback

(b) Negative feedback

(c) No feedback

(d) None of these

9ghUD URu A, SIReR & d4
BT 8—

(a1) uififew fhsd®

(@) frifew frsd®

(@) BIs fesd® aEf

(@) 7 9 BIg el

In IC 555 Timer, output is taken at ..............

(a) Pin-3
(b) Pin-4
(c) Pin-2
(d) Pin-5
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frr=forRaa & 9 feow N-fae A/D uRad®
W, 3MaYD Felld Ued @) wegr 2 gidl 2

(31) @isfeT ey

(@) IRl HPURCTI <I8U
(&) (3 AR @) <A
() 39 9 BIg 8

Which of the following works as encoder:
(a) Octal -to-binary convertor

(b) BCD- to -decimal converter

(c) Seven segment display

(d) None of these

fr=ifeaRaa & 9 ®I9 Hecd@sd @1 avs
& Bl @

(31) 3ifdee A I3 yRad®

(8) BCD ¥ <3Maid yRad®

(|) 91d @s ucd

(&) s 9 @ig &l

Which of the following is analog display.
(a) LED display

(b) LCD display

(c) Seven segment display

(d) CRT monitor

NT6028
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7 1621603

f=faRaa & 9 SI9—ar &= arel

PUcs fSarsd & fag 4wl @

(31) 3| MOS dd-iId BT AT B G137
ST 2 |

(d) SO PHa »H9 Bidl 2

(¥) SHBT T-cd SII<T BIdT @ |

(2) SuIqa g+

Which of the following is read and write
memory:

(a) RAM

(b) ROM

(c) Both (a) and (b)

(d) PROM

fr=fafRaa & @ &9 ds vd Wsc
AARY 2

(31) RAM

(¥) ROM

(&) (1) 8fik (@) <r=f

() PROM

Which of the following memory is mode of
tiny ferrite cores:

(a) RAM

(b) Shift register

(c) Magnetic core memory

(d) None of these
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10.

UART RRIaR & @vs—3Rd &1 Rgd 3k
AP BIRI—YUTTell B ATT B |

OR (3721d1)

Draw pin-diaram of IC 74156 and explain its

main pins in brief.

IC 74156 & f—sU™ &1 ©id AR s9
U &) dau & arAEr o |

Draw basic structure of charge coupied device and

explain its operation.

6
qrel HUs fSad & wifas A<= &1
3R sua fHar @ A=A a |
OR (31214T)
Establish a comparsion between LED TV and
LCDTV.
P.T.O
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10.

UART RRIaR & @vs—3Rd &1 Rgd 3y
AP BIRI—YVTTell B ATT B |

OR (3721d1)

Draw pin-diaram of IC 74156 and explain its

main pins in brief

IC 74156 & f—sU™ &1 ©id AR s9
U &Y dau & AT o |

Draw basic structure of charge coupied device and

explain its operation.

qrel HUs fSad & wifas A<= &t
IR sua fpar @ araEr a |

OR (3121aT)

Establish a comparsion between LED TV and
LCDTV.

P.T.O
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